Academic Algebra 1 Name ID: 1
Ch3 CW Review #2 (proportions 2024) Date Period

Grading: each problem is 8 points

Solve AND CHECK each proportion
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3) Write the correct ratios: A school has 200 freshman, 250 sophmore, 250 juniors, and 300
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c)What is the ratio of underclassman (which exclude seniors) to all students.
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Word problem. Clearly show work -- define your variable, label your ratios/proportions, and

answer in a sentence.
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4) A recipe for bresvaies calls for 2.25 cups of flour to make 36 cookies. How many cups of flour

are needed to make 48 cookies? PROVIDE A PROPORTION. SOLVE.
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5) The ratio of weight on the moon to weight on Earth is 1 : 8. How many pounds would a
240-Ib man weigh on the moon? PROVIDE A PROPORTION. SOLVE.

G omew o L1 X, sl

=5 AT 3 240
Y 2.“{02% ‘ch
3 ST e man weighs 30103
x:?’ on _-\/LL, MOOI\!.

onNn mcold (\bS\

-1-



Solve the percent problem using either PROPORTION METHOD or EQUATION METHOD.

Clearly show work!!

6) 08 inches is 0% pf what? |

Round to units (i.
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Circle answer and include units.

7) 68.6 m is what percent of 28 m?
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8) 170% of what is 25.5 grams?
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9) What is 5% of 160 minutes?
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10) 5 hours is what percent of 62.5 hours?
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11) What is 90% of $33.32?
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